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And according to ' who maintains that even if he gave over a
torch to him he is 11v5, etc.

OVERVIEW

The X773 cited a Xn>72 which stated that if one gave over a 7121 MW to a 1"'Wn so
they should watch it, and it caused damage, the owner is 2°°17; however if he gave
them WX to watch and it damaged, then he is 719. There is a dispute between "
and 9" concerning this WX which was given to the Y"wn. According to "9 this WX
refers to a nona (however if it were a n27%w the owner would be 217). The X723
assumes that if WX (in the Xn»12) refers to nna (according to 2"1), then M2 MW
refer to 70122 M2 Mwp NW; for all these items are MW NP2, [The X1 goes on
to explain, however, the difference between 7121 7w (where the owner is 2°°17) and
wx.'] However according to *" who maintains that even if 1"wn nan>w on, the
owner is WY, so (the X assumes that) the counterpart of n27HW is 721 MM MW
10127; [the X703 asks] why is there a difference between them?! n1voIn challenges
this assumption that the counterpart of n27>w is 710191 N2 "M NW; perhaps the
counterpart of N27%Y (according to °") is (still) 791271 N NWP NW!

= WIPY YD NUNI 139 1IN 239D NANTY NN NP0 NYH NN NN
It is astounding! What is the difficulty?! For a nam>w according to >"'= is the
same as a non3 according to ®'"9! Just as 5" maintains that if you give a noma to a Y'wn

"

you are Mvd, similarly >"7 maintains that you are 19 even if a n2n%w was given to the v'wn.? The
status of a N27%w according to °", is equal to a noma according to 9. Therefore the X1 -
= Y19RYNY 9199 NDIFN 913 NVYH 91V

could have established the Xn>92 by a "3wp 9% and a 779191 712, The reason for the
difference between 7121 W and naa>w -
= YWIPY WD 9IRY 1195 29910 PIMY 1Ay YINT DIV

Is because the war tends to untie and uncover the 7121 7w, but not to set fire
with the na7>w,’ precisely the way the XT3 explained "9, According to " a nom is

921w is *1nn *pIn3e 72y while by WX it is 211 Xonvn. See previous M 7"7 MO

%1t would seem that Moon maintains (in the X*wp) that just as by a nomx it is the view of 9" that the Y"'wn will not be
7291 (ignite) the nom3; similarly "2 maintains that the Y'wn will not ignite anything with the nanbw (alternately; see
following footnote # 3); that is why the owner is 705

? The facts seem to be that the owner had the Y'wn watch over a na7>w that was in the owner’s mwA. If the Y'wn
would have left it alone no damage would have happened. [In fact it would have eventually become extinguished.] It
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the 17N> of a 7oWN M2 MWp MW, similarly according to *"1 (who equates a n2now with a nom
[%"17]); a naa%w is (also) the N> of 70107 M2 MWwp M. The same distinction between M2 MW
and n%n) that the X713 makes according to 7", will apply between 7121 1w and n27%w, according
to °"7. Why does the X713 assume that since °"7 interprets the X072 of wWX1 3"Xwn to be referring
to a Namw, therefore the 712 of a NP is a 7017 M2 MR Nw?!

N1B0IN answers:
- Y9W YUY DIYN TVDT NI 2297 NNYVT 1Y YNUNT MY Y

And one can say; that it seems to the X7n3 that the reason that >''% exempts the

owner when he gave over a n27>w to a 1"'wn, is because the Jup guards the namow.’

Not only -
= 999Y NYIY NATIN NIN PN NYIY JOPN PN

Does the ju? do no damage, but rather on the contrary the W7 provides

protection that the n175w should not damage. Without the 1"wn, however the n27%2 would not
be 7MW NP3, therefore it is compared to a 72137 721 M .5

mooIn explains that according to this interpretation an additional difficulty will be clarified:
= DI 912 A MY NY SPINT 1IN 2297 YWPIN NIT NN RNYN)

And now that we assume that the Y"'wn add 77nw, a difficulty will be resolved;
that we cannot ask, according to >''% who establishes the Xn»72 by a =0 W

79137 M2 which are prone to damage -
= 290 99) 1901 XY XN JUPI NVIV YIND 190DV VP INNN

Why does the Xn>72 mention that he delivered it to a 1''wn, for even if he did

not deliver it to a Y"'wn he would also be liable since it is a 75 7121 2 Mw?! The

answer is —
= NNP NIV NYIY 29 DY X MY 1901 VT

That he mentions 1"wn% 1701 as a novelty; that even though the Y'wn provided a

was only because the V'wn took the nam>w and ignited something; that the fire spread to the neighbor’s mwn.
Therefore the owner should be Mo, However by 1121 1w where it is 1977 of the 1"wn to >1n1 >IN, therefore the
owner is 2°°17; similar to the explanation according to ".

* See “Thinking it over’ # 3

> The reason for this assumption is because it is highly unlikely that a n27>w (which is extremely prone to damage)
should be intrinsically considered 71m°w npa (as a nna). It must be that the reason the owner is 709 is because the
1"wn provide 7nw for the namow. Otherwise if there were no Y'wn the owner would be 2>n, since it is not npina
Tw. Therefore the 70112 is 72341 7121 N MW, where it is also not W NP2,

% According to 2" the 1"wn provide no 77w at all. Therefore we must assume that if n>m32 (wX32) the owner is 9109
that is because it is considered 1w npr3a intrinsically. Therefore the n15 of a noma is 7017 M2 MWp MW, which is
also intrinsically 17w nptna. However " maintains that the reason why (even) nai%wa he is 7w is on account of
the 7w of the Y"wn, indicating that without this 77°»w the na7%w is not 1w npina. Therefore the 7NN of a naTHw
(which is not intrinsically Mm@ nprma) is a 7211 21 N MW,
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partial 79w, nevertheless he is 2°m.

$YIPY YWIIN XD NY2D INNA)
And it is regarding this reasoning that *"1 argues with "9, For "7 maintains that
the 1'wn decrease the 77°nw; therefore even if he gave a 7911 M2 MWpP MW to a 1"'wn, the owner
is 2»1 (and [certainly] if he gave over a n27%w he will be 2°1). However *"1 maintains that if he
gave over (even) a 'Namow to a"wn he is Ts.8

SUMMARY

The reasoning behind the dispute between 2" "1 is that > maintains that a Y"'wn
add somewhat to the 77°»w; while "1 maintains that the 1"wn (generally) diminish
the 7nw.

THINKING IT OVER

1. m»poIn asks; since a >"% NA7YW is like a 9" nona, why does the X3 compare it
to a 723 M2 N W, Seemingly Moo could have asked since a °"1% nagow is
like a 9"2% n>m3, then what is the s'R7%3 question on *"1 (more than on %"9)?! The
same answer that we apply to "1 will apply to > as well (regardless whether it is
ann or Mwp)!’

2. How did m»oin understand the status of the n27%w (and the relationship between
the Y"wn and the n27%w) in the ®°wp, and how did he understand it in the y17°n?
What caused this change?

3. In the previous MmO (concerning 2"7) the wan was specified as the one who
will untie the "31 Mw; however in this N0 (concerning °"7) it is the VP who is
specified as the one who guards the n27>w."° Is there any significance to this?

7 Seemingly the same would apply if he gave over a 70191 M12) Mwp MW to a 1"wn he would be Mwd according to *";
since basically it is 7°w NP2 and the Y"'wn merely add to its 7777w but do not diminish it.

¥ The X3 subsequently explains the difference, that by a naa>w it cannot do damage (if the Y'wn merely neglect to
watch) unless the 1'wn actually take the na7%w and do the igniting themselves (2°73 Xp wAnT Xnax); however by a W
7213 N2 N, there if the 1'wn are negligent in their watching, the 121 7w will damage on their own. See MO
7191727, See however 782121 71"72 77w NIX 1" 1 who maintains that according to mooin the difference between W
21 and WX is that 21 MW is 7717 >12; however WX is N12°IR2 WY X171 °12 X7 and also in the "yw> " awa n"w.

? See X"wAn.

1 See footnote # 4.
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